Example 5.1

Identical small spheres having mass m are welded to the ends of
a rigid bar that spins about the axis of the motor at angular speed w;. The motor is
mounted on the horizontal turntable, which rotates at angular speed w,. Determine
the angular momentum of this pair of particles about point C where the connecting
bar is welded to the motor’s shaft. Then use the angular momentum to characterize
the force system exerted on the connecting bar at point C, as well as the kinetic
energy of these spheres. Express the result in terms of the angle 6 from the bar’s
centerline to vertical.
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Example 5.1 (cont.)

/\&)w) U wm\ AL QOJOL) QN % w
i Qﬂaﬂs ?u\\c\c\ﬁ) %@\J&\/ gy OJ\\\j S | olled ljmr( i3

%\AX O S JM Comy U Blows o cledly @I\Vt

2F = dma = w

Can casA {om lcmbﬁ at

Fﬁﬁ\/\ & C \O}c\
\L&ﬁ\%}ﬁ
- < ¥
I8 fd A MGMJ, ot of metd on Siafl o C/ &
oY
iMQ: HC = 5§ x\{z a \AQ W\{'z': b\\ak\

TTo by e b o0y U

—

| = :‘;rf\gb"gﬁg g ”;b/\)"H-@
; ;'@M\@wgf i {.{ (*w,2'+wa\<'> - He
T= MR “V\Wag@?* KQS\K)%_

Uy ola) \}Q\cﬁ\; @L pech W&e



Rate of Change of Angular Momentum (Sec. 5.3)
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Example 5.10

m The right triangular plate is welded along its hypotenuse to a shaft
that rotates at the variable rate Q. Determine d Hg/dt for the plate. For the special

case in which €2 is constant, predict which way the dynamic reactions generated at
the bearings will be oriented.

w2 hve) B by
= at Com

Can i S Na QM\)@(%TP\ wo1ode . Sy <edd mdltn qnmon Cevn '\\(’/\
(GA% prody peich Ay JY\r‘f \ms‘&}
T Hok
\ —
Tor @08 Iym gl sih |, Tpr eidefs
Ixg= Ty m D™ T2 O I\R:L\\: }%pM\ogSm@cos@

AV\BU\C\f \JQ\LUH
CD:Q’Q;AY‘% _Q_Aﬂ\@: COS@S - swbk
o= (Qgg & -sw 6\_%

Amgu\c\( a@eigron

A = Li)" Bw ‘j’}_QAb‘}- ﬂ/i?;b _,QQA

= = /Q (Co&@j’ B \%



Example 5.10 (cont.)
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